Order of Operations (A)

Perform the operations in the correct order.

L2x(=7) = (10+(=2) +10-+54(-7))
5 (2 % 2)(((—7+6)5)9>3
3 (—1) x (—4) = (=1) = (=7+9)

4 (44+3)x 1+ ((—1)5 x <—1)7)

5.3+ ((—1)9 X 2+10+(—9))8
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Order of Operations (A) Answers

Perform the operations in the correct order.

L 2% (=7) = (10 (=2) +10 =5+ (=7))
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Order of Operations (B)

Perform the operations in the correct order.

L ((=2) x2—(24(—06))) x 410%3

2. (10— 7) x ((—6) x 14 (7 —5)3>

4. (=2)=(-1)—(6+=(=1)+(—8)+10+7)

5. (24 (=3) = (=1) x (=1)){=O=Y)
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Order of Operations (B) Answers

Perform the operations in the correct order.

L ((62) X2 — (24 (—6))) x 4103

2. (10— 7) x ((—6) x 14 (7 —5)3)
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Order of Operations (C)

Perform the operations in the correct order.

L(=1)%x (6= (=2))T% =3

2 42+ (22 ((—1) x (8+(—4))))

3.6 1+ (—1)Po" 7

4.5 % ((_1)8 —(=9) = (_3)10+5)
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Order of Operations (C) Answers

Perform the operations in the correct order.

(=18 x (6% (=2))T 1 =3
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Order of Operations (D)

Perform the operations in the correct order.

_ (110+9><1 - (_1)3>4

—

1048 — (10=10)Y

N

325 (=1=9+49)" ) % (—9)

v (66) (7))

5 ((—1)7)7>< 10" = (—1)+3
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Order of Operations (D) Answers

Perform the operations in the correct order.

—

1049x1 . (133 4
(1 = (—1)
=1

2. 10+8' — (10=10)°
—17

3. 2+
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Order of Operations (E)

Perform the operations in the correct order.

L((~1)x2+(4—8+6))"

3. —6+(—4)+7+(—2)+(1-1)x2

4. 4414 (—4)— (=11 +(=6) =5

s ((5+(=5))+ (-8)) = ((-2)*=5)
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Order of Operations (E) Answers

Perform the operations in the correct order.

L((—1)x2+(4—8+6))""

I
|
[E—

Math-Drills.com




Order of Operations (F)

Perform the operations in the correct order.

1 (=3) = ((1 +2) = ((—1)8+ (6—5)))

2 ((—1)7—9> 2 (1+(—1)7)

3. (10+2) = (2 x (—9) = (=3) x (—1)4)

52+1—-(5-6+((5-2)+(-3)))
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Order of Operations (F) Answers

Perform the operations in the correct order.

1 (=3) = ((1 +2) = ((—1)8+ (6—5)))

3 ((—1)7—9> X2 % (1+(—1)7)

=0

3. (10+2) = (2 % (—9) = (=3) x (—1)4)
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Order of Operations (G)

Perform the operations in the correct order.

4-7- (4— ((—1)10+2)) —(—4)

=24 (10+10) = (2= 1)!710

(_ 10 — (_9))(—2)><(6+(—10))—(—4+7)

1— (5<—1>4+ (=7)+(-2) —2)

14+64+6x(=3)+1723)
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Order of Operations (G) Answers

Perform the operations in the correct order.

4-7- (4— ((—1)10+2)) —(—4)

=0

=24 (104+10) = (2= 1)!710

=38

=1

=17

(=10 — (—=9))DX(E+(-10)~(~4+7)

- (5<—1>4+ (=7)+ (=2) —2)

A+64+6x(=3)+17278

= —10
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Order of Operations (H)

Perform the operations in the correct order.

1 (=8+5+2)x(=5)+(-8)x1-10

2. =74+442x (=1—=(=7)+(=1)) x (=1)

3 (1) x5+5) Y % (245)
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Order of Operations (H) Answers

Perform the operations in the correct order.

1. (—81|—35+2) X (=5)4+(-8)x1—10

2. :74i§1+2 X(=1—=(=7)+(=1)) x(=1)

3 (1) %5252 % (245)

=17
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Order of Operations (I)

Perform the operations in the correct order.

) (((1e-c—1»5)5>(a2(®

2. 6% (=9)+(=3)+ 3+ (2+(-9)))°
3. (1= (=5—(=9+(=7))) x (=1)) + (4= 1)

4 —8—(—1) x (=6) + (—6) — 32— 1

5 ((9+ ((—3) x 3+(—1)6))7>7
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Order of Operations (I) Answers

Perform the operations in the correct order.

£(1 e ) ) (~2)~(~4)
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Order of Operations (J)

Perform the operations in the correct order.

2= (((2+27)" )

2. 2%+ (10— (3x5+43)) x (=2)

5. —2+10+10+ ((—=8) = (=1) = (=2)) +7

Math-Drills.com




—_—

9

Order of Operations (J) Answers

Perform the operations in the correct order.

2- ((((—2) +2)9) 1O+5+4>

= —1

. 244+(10—(3><5+3)) x (—2)

2010 (8) + (1) = (-2)) 47
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